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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st -l -~ = -| #hist -~ = = = ZThLLSE = -~ = - En LS = Rt = = -
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st -l -~ = -| Zn LSt -~ = = = Zh st = -~ = - Eh LSt = e = = =
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00/ 0.00 ~ 440 64.48] Thouist 000 ~ 4.40| 1.69 7.44 Zh LS 1.00] 500 ~ 6.69 64.48| Thuls | 500 ~ 6.69] 1.69 7.44
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Zh st 1.00[0.00 ~ 579 8550 #hLlst | 000 ~ 579| 1.81 7.96 Zh LS 1.00|] 500 ~ 9.70 85.50| #hulst | 500 ~ 9.70| 1.81 7.96
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 644 9594| ZhbLlst | 000 ~ 6.44] 233 10.25 Zh LS 1.00| 500 ~ 11.80 95.94| Zhuis | 500 ~ 11.80] 2.33 10.25
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 644 9594| ZhLlst | 000 ~ 6.44| 1.89 8.31 Zh LS 1.00| 500 ~ 11.80 95.94| Zhuls | 500 ~ 11.80] 1.89 8.31
7 100kN/mM#%# 8% % 1.00] 000 ~ 1.41 12419|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.93 ~ 21.63 124.19|3m%#BZ% = ~ = = =
Lot 1.00] 1.41 ~ 8.09 100.00] Zh L5t | 0.00 ~ 8.09] 2.36 10.38 Zh st 1.00f 500 ~ 1293 100.00f Z1List | 500 ~ 21.63| 2.36 10.38
8 100kN/mM##BZ 5 1.0010.00 ~ 1.41 124.19|3m%E#BZ % -~ = = -| 100kN/MZE#BZ % 1.00| 12.93 ~ 21.63 124.19|3m%E#B %% = ~ = = =
ZnLst 1.00] 1.41 ~ 8.09 100.00| Z1List | 0.00 ~ 8.09] 2.69 11.84 Zhn st 1.00f 500 ~ 1293 100.00f Z1List | 500 ~ 21.63| 2.69 11.84
9 100kN/mM##BZ % 1.00{0.00 ~ 1.00 116.94|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 1262 ~ 17.23 116.94|3m%E#B %% = ~ = = =
Zrn Lot 1.00] 1.00 ~ 7.68 100.00] Zh L4t | 0.00 ~ 7.68] 2.50 11.01 st 1.00f 500 ~ 12.62 100.00f Z1List | 500 ~ 17.23] 250 11.01
10 100kN/mM##BZ % 1.00{0.00 ~ 0.99 116.91|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 12.61 ~ 17.23 116.91|3m%E#B %% = ~ = = =
ZnLst 1.00] 099 ~ 7.68 100.00| Z1List |0.00 ~ 7.68] 2.49 10.94 Zh st 1.00f 500 ~ 1261 100.00f Z1list | 500 ~ 17.23| 2.49 10.94
11 100kN/mM##BZ 5 1.00{0.00 ~ 0.99 116.91|3m%EH8 %% -~ = = -| 100kN/MZE#BZ % 1.00| 12.61 ~ 17.23 116.91|3m%E#B %% = ~ = = =
ZnLst 1.00] 099 ~ 7.68 100.00| Z1List |0.00 ~ 7.68] 2.49 10.94 Zhn st 1.00f 500 ~ 1261 100.00f Z1List | 500 ~ 17.23| 249 10.94
12 100kN/mM##BZ % 1.00{0.00 ~ 1.18 120.12|3m%#BZ% -~ = = -| 100kN/ %8z % 1.00| 1281 ~ 19.23 120.12|3m%E#B %% = ~ = = =
Zhn Lot 1.00]1.18 ~ 7.86 100.00] Zn1ldst | 0.00 ~ 7.86] 2.38 10.47 Zzh st 1.00f 500 ~ 1281 100.00| Zh it | 5.00 ~ 19.23] 2.38 10.47
13 100kN/mM%#EZ % 1.00{0.00 ~ 1.18 120.12|3m%EB %% -~ = = —| 100kN/ %8z 5 1.00| 12.81 ~ 19.23 120.12|3m%E#B %% -~ = = =
Zn Lot 1.00]1.18 ~ 7.86 100.00] Zn1ldst | 0.00 ~ 7.86] 2.38 10.47 Zh Lot 1.00f 500 ~ 1281 100.00| Zh it | 500 ~ 19.23] 2.38 10.47
14 100kN/mM%#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ S -~ = = =
Zhn Lot 1.00] 0.00 ~ 4.6 61.02| ZnList | 000 ~ 4.16] 2.18 9.59 Zh Lot 1.00f 500 ~ 7.78 61.02| Zzh iy | 500 ~ 7.78| 2.18 9.59
15 100kN/mM%#E% % = -~ = -|3mEEZD -~ = = —| 100kN/ Mm%z 5 = -~ = -|3mZEiEZ S -~ = = =
Lt 1.00{0.00 ~ 215 33.72] x4t 1000 ~ 215 2.71 11.91 Lt 1.00f 500 ~ 8.06 33.72| #h Ll | 500 ~ 806 271 11.&&
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16 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00] 000 ~ 476 69.77] ThLis 000 ~ 4.76] 1.61 7.07 ZThLLSE 1.00] 500 ~ 830 69.77| Thilst | 500 ~ 830| 1.61 7.07
17 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 507 7439 #nbist |000 ~ 507] 1.60 7.05 Zh LS 1.00|] 500 ~ 9.34 74.39] #hLis | 500 ~ 9.34| 1.60 7.05
18 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{ 000 ~ 3.64 53.71] #huls 000 ~ 364| 1.82 8.03 Zh LS 1.00] 500 ~ 509 53.71] #hils | 500 ~ 509| 1.82 8.03
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%#BZ % ~ ImERBZ D ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~ |
=EFR



